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- %5191 MORY NI aNY 17037]
From where do we derive that a father is believed to prohibit, etc.

OVERVIEW

The X723 states that we derive from the 2109 of 31 W°R? *nn1 °n2 nX, that a father is
believed to establish his daughter as being married, and effectively preventing her
from marrying anyone else.

The 7w17p of a 77¥1 or a 71YP can be carried out (XN7XTM) only by the father. The
Tw17R of a N1 is effected by the woman, not by the father.

nooIN asks:
- 2AwT0Y 11921 DININ JNINIT DY DIDIN NP 29K NI NN

It is astounding! Why is a 2102 necessary to teach us that a father may place a
prohibition on his daughter and declare her married? It can be derived that the
father is believed to prohibit her since it is in his power to betroth her. This girl is
presently a 77v1 or a m1vp, therefore the father can betroth her now to whomever he wishes; it

follows that if he claims that he betrothed her already, that he should be believed since it is 17°2, in
his power, to do so now.

mooin will prove that when it is 172, then he is believed:
- 2nw9 11939 I8N PN SNYN NN SN MMNRY J¥3 (3,159 272) PHN YA 9INTD

As the X173 states in 1991 @° 7195 a husband who claims, ‘I divorced my wife’,

he is believed, since it is in his power to divorce her. Here too the father should be
believed since it is 17°2; no P10 is needed!

nMooIN answers:

= (N,70 PYITH RIPNXTY) MIVTPIY DN N81DY XD NNYT 79 D5 1192 PR XONT 91990 v
And one can say; that here in the case of 7¥17p it is not 17°2 that much, for
perhaps he will not find a person who is willing to be wTpn her. By pwia it is
totally ¥277 722 to divorce his wife, therefore it is considered 17°2 and he is believed; here however
it is not solely dependent on him, it also depends on the prospective husband -

= NP PIOWN 991D

Therefore a 2105 is required to teach us that even though it is not 75 93 172, nevertheless
the 71710 accords him this minxa.

' This mooin is bracketed and in a smaller type in our texts, seemingly indicating that it is an addendum
(from >"1n). Nevertheless it is cited (partially) in the ¥"X777 ndOIN.

% See w"x177 MdOIN who states that we know that it is 7wTR% 1772 from the 2105 of 70D X DI IRYM (see AP?
3,7) [not from "1 °na nR]; why do we need the 2109 of >nn1°na to teach us that he is 770K X1

? See “Thinking it over’ # 1.
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mooin follows up with a limitation on the father’s nmnxa;
- 41):24) 1INT AN MIVP IN N9V NNPAYI NINVIP NN INA HY 99N ON 1710)

However if he claims concerning his daughter who is a nax3, that I was wpn
her previously when she was either a 79w or a 71up, it seems that the father will

not be believed -
= b5 4794 PPN NOVYNT

For now when she is a n7312, it is not 17°2 at all to be w7pn her. The fact that it was once
17°2 1s not sufficient that we should presently believe him.

m»oIN anticipates a contradiction to his current assumption:
= 0P 29913 991 NIINI 7999 (L 91 INNANMY N9Y) P92 19P9T 2) DY GNT

For even though that later in 7nnpniw 79w: P99, the X7 asks; ‘and let us say
when is this so (that the w172 702 belongs to the father), when the nwmpn is a

71IUR (for she has no 7° to be PR 22pn) -
- 593 W1PIN YN 1Y) YaN

However when she is a 7791 (why should the father receive the 1Pw17P 703), she
should be w7pn herself’ (accept and keep the 1w17p from the 9¥3), and not the father. This

concludes the citation from the X312 in 77v1 p75.

- 2509 *nayia NPT AWTPY 17192 PRY NYWIA 1TONR 9IOND JINT NPNY 7998 79D N Y
According to that x7n3, the ruling should be that the father is believed to
prohibit her even when it is not in his power to be w7p» her; for the pwop of nX
31 °nn1 °n1a (from which we derive the n11aR1 of the father) is concerning a 79w: -

= YTPY Y12 PRT 919917 2y
And the X773 in 7791 P75 wanted to say that it is not 17°2 of the father to be wpn»
the 73, and nevertheless the 7N states that the father is 710> 1R1. Seemingly this is a
contradiction how the father can state °>nni1 °na that I was w7pn my daughter who is presently a
77v3, when the X3 now insists that a 77v1 is nwTpn by herself (not through the father). The

answer must be -
= 9752 PRY 29 HY N JINT NIN 21NN NI NIV NNYNYI YNNI YN NN)

That the 105 of >nn1 >na nR will be interpreted to mean that the father was wpn
her when she was a mup (and now [by the episode of ¥7 aw X°xXn] she is a 77v1),
and it is a 210277 n991a that the father is believed to be 701X even 77V 112, even

though it is not 172 to be w7p» her now (but since it was 17°2 to be w7pn her when she was a
mop (which is what he claims) therefore he is jaX1). The same should apply (according to the

AR {; may seem that if the n1nK1 of the father was based only on 17°2 (not on a P109), then by n7312 (where it
is not 17°2) the father would not be believed. However now that even by a 71vp1 771 it is not (2"3) 17°2, and
nevertheless there is a 105 that the father is 7X1; we might think that even by a n7312 (where it is (also) 11X
(993) 17°2), he should also be X1 MdoIN disabuses us from this notion. We cannot compare 3"3 17%2 1°X to
9931752 K.

> The X2 there ultimately refutes this notion.

® The 2109 is in the 7w of (tv,23 [Xx¥N] 0°127) ¥1 aw XX which is applicable only when she is a 771.
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X1pon) by a na13, that if he claims that he was w7pn her before she became a n7312 (when it was
17°2), he should be 12X, since it was 17°2 then, when she was not yet a n7312!

mooIn replies; that even though there was a X1»X M that a father cannot be wpn a 77v1 and
nevertheless he would be believed to be 70 her (on account of a 21377 N713), if he claims that he

was w7p» her when she was a mvp -
:[19 99N XY NapoOnn *9Y Yan

However according to the conclusion of the X n3x (that a father is w7pn the 77v1),

we will not maintain this (that he can be 70 a n7aa by claiming he was wpn her
previously). If presently it is not 993 17°3, then he has no manxa.

SUMMARY

It is not 2"2 17°2 of a father to be W7p»n a 771 or a 71vp, nevertheless the 7109 of °n2
’nn1 teaches us that he is 7I0IX? 72X81 when she is not a n732 yet. However once she
is a P32, and it is 992 17°2 'R, he is not 7I0IRY K1,

THINKING IT OVER

1. mooIn states that when it is 17°2 he 1s ]?JNJ.7 However, the minx1 of the va to
claim "nwX nX *nwA3 is only for the future (for that is 17°2), but not for the past; here
we are deriving from 7"wX1 that he the father is 12X1 (even) for the past.8

2. Does the 2105 of 31 °nn1 °n2 teach us that the father can be wipn his daughter
and therefore we can surmise that since it is 17°2, he is 77018 1aX3; or does the 770
teach us directly that he is 7701 KR1?!

7 See footnote # 3.
8 See 5PN MR DY MIdWA.
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